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QUESTION 1

Which of the following parameters need to be considered when electing a root port in STP? ()*
A. Port priority

B. Port slot number, such as G0/0/1

C. Duplex mode of the port

D. The cost of the port reaching the root switch

E. MAC address of E port

Correct Answer: ABD

QUESTION 2

The network structure and 0$PF partition are shown in the figure. In the figure, except for RTA., the routers RTB.RTand
RTare ABR routers. ()

(RTA) ip route-statiC.10.1.1.02412.1.1.1 permanent
(RTA) ip route-statiC.10.2.2.02413.1.1.1.

A. True

B. False

Correct Answer: B

QUESTION 3

The MAC address table of existing switches is shown in the figure. Which of the following statements are correct? ()
(Single-choice question) Huaweidisplay mac address MAC address table of slot 0: MAC Address VLAN/PEVLAN
CEVLAN Port Type LSP/LSR-ID VSI/SI MAC-Tunnel 5489 9811 0b49 1 Eth0/0/3 static 0/ Total matching items on slot O
displayed =1

MAC address table of slot 0: MAC Address VLAN/ PEVLAN CEVLAN Port Type LSP/LSR-ID VSI/SI MAC-Tunnel
5489-989d-1d30 1 Eth0/0/1 dynamic 0/5489-9885-18a8 1 Eth0/0/2 dynamic 0/Total matching items on slot O displayed
2

A. The MAC address 5489-9811-0b49 is manually configured by the administrator

B. After the switch restarts, all MAC addresses need to be relearned

C. The MAC address 5489-989d-1d30 is manually configured by the administrator

D. The MAC address 5489-9885-18a8 is manually configured by the administrator
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Correct Answer: A

QUESTION 4

A company applies for a IP address segment, which needs to be evenly distributed to 8 subsidiaries. The largest
subsidiary has 14 computers. Different subsidiaries must be in different network segments, so the subnet mask should
be set. for()

A. 255.255.255.240

B. 255.255.255.0

C. 255.255.255.128

Correct Answer: B

QUESTION 5

What kind of network equipment can host A and host B use to achieve communication?
A. router

B. Hub

C. HUB

D. Layer 2 switch

Correct Answer: A
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